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67
24
43
12
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86
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1[ 8]
2[ 6]
3[ 5]
4 2]
5[ 7]
6 4]
70 3]

(4%H]
1[ 5]
2[ 3]
3[ 6]
41 4]
50 7]
6 8]
70 2]

183111 A&
30V8 {5
2245 N
90 H & K6
1428 0 R A4
15088 (LI B¥ £ 5-

&5

1% Z~
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By A4

186fF X A2 il 5
2718 F 6
2220 K Bi A4
OIfE RIS
VAN CY !
1698 /U i 45
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( -0.9
5851 %
654 JF
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9544 R

193 % &

( +1.2
6124 Hb
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21810 2 #hiZx 4

H4 (FRYV2=7)14.
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1281 H 5leﬂ4<%ﬁf“ﬁf‘e #)15.
4 (771 % v X)16.
22115 5 ﬂuaézl (RUN. j p)16.
220FfnMIE #0324 (RUN. j p)16.
& )5 4 (BT AEF) 16.

D4 (ERYV2=7)16.
13Kk EEHE 4 (ERY2=7)16.
136 0 (#E4 (KRC Jr)l6.
(RUN. j p)16.
081 B4 (T hx o AT,
82 % EH4 (ERY2=7)1T.
207 BEM Ef#k 4 (RUN. j p)I17.
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97.35
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10 2]
2[ 7]
3[ 4]
4[ 3]
5[ 5]
6 8]
[ 6]

8 10177 EFHE 4 Ny = =7)15.80 -1.4
INBESEELZF 100m REEGH)
[1#8] (  -0.3 m) [248) ( +1.6 m)
105] 1565 [l & A5 (LHZ1XE)13.76 104] 99 B B35 (T 4% v X)14.66
2[ 6] 96{F jE  E5 (FHF v X)14.14 2[ 6] 190R8 #R 45 (FriREZK)14.74
3[ 4] 1212)y=F V=4 5 G J& [ ) 14. 32 3[2] M| H TH5(ERV2=7)14.92
40 3] T74K=E OFEV 5 (EREV2=7)14.62 40 7] 599 i FEAE S5 (EEV2=7)15.06
5[ 7] 2267 #F  # 5 (RUN. j p)14.66 5[ 5] 20675 I 2EZE5 (MAY2=7)15.21
6[ 2] 205/ M OV 5 NEY 2=7)14.97 6[ 3] 203%r IKr 2 4B 5 (FTiRESFK)15. 24
70 1] 2007% #&% £ 225 (FriRAES#)15.13 70 8] 221H ¥ £ &5 (RUN. j p)15.29
8[ 8] 131/% M #% 4 5 Cor & [ #$)15.29 8[ 1] 22593 ™45 (RUN. j p)15.35
[3%H] ( +2.7 m) [4%8] ( 0.1 m)
104 16153 = HFE5(LHZ1EE)14.76 106] 31k |IL HFHS5 (R bE—=)14.69
20 6] 2245% )1l B35 (RUN. j p)14.82 20 2] 145) W2 J55 (774 M)Ii)15. 38
3[ 5] 70TiAr #E{KS5 (ERY2=7)15.26 3[ 8] 180 5= O/27=5 (L6 21T E)15.47
AL 7] M4 H 4 ¥5 EMY=2=7)15.32 47 3] 55%@ # # 15 (REx v X)15.72
5[ 8] 238j% & & R 5 (PEIETIRENRS) 15. 55 501] 26H %= % 750k IR C)15.72
6[ 3] 201 — H  ZE5 (FriR M) 15. 62 6[ 7] 174 M ZES5(LbZEE)16.12
[ 1] 2238 £ #5 (RUN. j p)RiH 70 5] 8575k W #j5 (EEYV=2=7)16.13
[ 2] T5H R F =5 (ERYV2=T)RIG [ 4] 2425 W £S5 TAVT47 ARG
[5#8] (  +1.1 m) .\fﬁ\\‘%
1L 4] 10757 ik A A 5 (5 2=7)15. 98 1 1565 L & A5 (L 5 = 13 £)13.76 0.3
20 5] 111Kk H H5 (FEMY2=7)16.06 " . . ~
2 960t B EZES5 (G F v X)14.14 0.3
3[ 8] 67#: ARl M5 (LRYV2=7)16.53 B e j
L R 3 1212)y=F v=v( 5 C&F JE B 1#)14.32 -0.3
40 6] 183M1i2 K5 (LD ZIXL)16.79 o ~
4 T4KE OFV 5 (FREY2=7)14.62 -0.3
5[ 3] 13585 K ff %5 (KRC J r)16.89 5 09 L IR 5 (5 R
e T S5 (7 % v R)14.66 +1.6
6[ 7] 1758 F (HEMeES (L6 ZI1EE)17.57 . )
6 2269 £ #5(RUN. j p)14.66 -0.3
70 2] 6F H  ZE5 (fBJIIWR C)18.66 ‘ NN _
R TRV e 7SRkl SLRES Ut =)14.69 0.1
o DA AR 8 190F8 M W5 (TR E ¥ H)14.74 +1.6
INEGHELF 100m R (BHE)
[142]) ( +0.7 m) [248] ( +0.5 m)
1[ 4] 23593 =EFfi6 (RUN. j p)13.10 1[4) 124% 0 S< 56 (o F e #)13.79
2[ 5] 2371k Tv=2"%%6 (RUN. j p)13.44 2[ 6] 1574 #h e (L2 iEe)14.07
3[ 6] 236 H M &6 (RUN. j p)13.75 3[ 3] 23075 % ¥ 226 (RUN. j p)14.16
47 7] 166/ 4k 6 (LB ZIEE)13.78 40 8] 20 EMR MBI 6 (HREAT. C)14.18
5[ 8] 231 M &6 (RUN. j p)13.97 5[ 2] TMHEH #Hite (EREYV2=7)14. 21
6[ 3] 2345% % £ 456 (RUN. j p)13.98 6[ 5] 2332 & FE 56 (RUN. j p)ld. 21
70 1] 1304 & £ ¥ 6 (Br & [ 1) 14.16 70 7] 18 IF BEAS 6 (AFEAT. C)14.42
8[ 2] 1543 F HF X6 (LbZiXs)14.18

( +0.5 m)

46 )7 B Ei Wl 4 (o ZEF)16.17
1850 & BEFn4 (LS ZiXE)16.71
16987 &< B4 (LbZiEe)17.18
125%% & & 4 Cor JBE B 1#9)17. 28
71675 % ZE L4 (ERBV2=7)17.43
1B K4 EIWRC)T. 47
8HIHE B EA4(LRYV2=T)RIG

D AN
(] RTARNy |

1 63fEH FifE4 (LEY=2=7)14.67 -1.4

580 %
654 Jf

=4 (FRY2=7)14.99 0.9
W4 (FRY2=7)15.23 -0.9

277F=7t rtfiv 4 (B 1 R C)15.43 -1.4
1624 %< il fm 4 (L & 21X £)15.66 -1.3
10948 + A4 (EIMY=2=7)15.72 -1.4

2
3
4 681 H A4 (LREY=2=7)15.24 -1.4
5
6
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[3#8]) ( +1.2 m) [4#8]
107] 21385 K 1% A 6 GO ] r)14. 31 1[ 4]
2[ 8] 132 kFnH *ﬁn’ies (KRC Jr)14.32 20 7]
3[ 5] 64 B BE/E6 (LRVa=7)14.42 3[ 6]
40 3] 198 1 FE 42 6 (AT EFHR) 14. 60 4[ 5]
5[ 6] 195/h7% #) J5 6 (FTiRAEFK)14. 65 5[ 8]
6[ 2] 229{7%= U0 6 (RUN. j p)14.69 6 3]
70 4] 485 3 v H 6 (TEAMAFHK)14.73 [ 2]
[548]) ( +0.6 m) [6#48]
10 1] 2413k 0 E#6 TAVT4/72)14.73 1[ 3]
2[ 4] 207 H A 4 dfifst 6 ONHY 2=7)14.73 2[ 2]
3L 7] 144 Iy BG %56 (774 MIg)14.73 3[ 4]
41 3] 16'= 8 Z M6 (FR#AT. C)14.81 41 7]

50 6] 1231 &  #j 256 Cor i k2 1) 14. 82 5[ 5]
6 2] 188[m &5 s ¥ 6 (FTiRAEZFM)15. 85 6[ 6]
[ 8] 191 M 1 HF 6 (FTiR SR Ri5 7[ 8]

(7#8]1 (  -0.6 m) (8#8]

10 6] 97TKH ZkE1 6 (T h% v X)14.91 1[ 5]
2[ 4] 1334F [ FEfE6 (KRC Jr)15.16 2[ 3]
3L 7] 1645F W 6 (LHZiXE)15.56 3[ 4]
40 8] 165/ HEH .06 (L5 Z1EE)16.10 41 7]
5[ 2] 89F& R i Jy6 (NIETEE )16. 49 5[ 8]
6[ 5] 21EHT HA6 (LJREAT. C)16.59 6[ 6]
703] 17@ %8 H#46 CAJREAT. C)16. 66 70 2]
S AN

[] LRy e |

1 2350 ==Ffi6 (RUN. j p)13.10 +0.7
23738 TV %56 (RUN. j p)13.44 +0.7
236 H M EE6(RUN. j p)13.75 +0.7
166/ # D76 (L 5 21X £)13.78 +0.7
124% 0% =< 56 G J# k2 #)13.79 +0.5
231/ # &6 (RUN. j p)13.97 +0.7
23452/%1 26 (RUN. j p)13.98 +0.7
1578 #  #&6 (L & 21X £)14.07 +0.5
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2[17] 104 &k 2 FE 4 FEMNY=2=7)1:58.00 13[10]
3[18] 11084 + A A& 4 (FEMNY=2=7)2:00.53 14[ 6]
4119] 122/ 702X X 4 CGor JFE & $4)2:06.01 15[ 3]
5[15] 470 B F A4 -2 EF)2:06.21  16[ 7]
6[13] 9=Jh E£HE4 HW/IWRC)2:06.60 17[ 5]

~N o o1k wN

( +1.6 m)

1550F F K3EH/R6 (LS Zi1XL)14.38
53 Al 15 H 6 (KEX > X)14.42
M5B mfE6 (FEMY==7)14.50
1978 B 8 &6 (FTiRESK)14.83
1768 Ff #hifbe (L5 ZiEL)14.83
187516 £ 26 (FriREFK) 14. 87
2123 % HHyDHE 6 CRFEER ] r) Ri5
( +0. 1 m)

1477/ BE2FEA 6 (774 MI#)14.79
216110 A B 6 (Z48E48/08) 14. 92
2045 M FHEER 6 (NHY 2=7)15.18
18485 K R E6 (L5 Zi1XE)15.24
20287 M L 3% 6 (FTIRAEFA) 15. 32
1432421 W ¥R 6 (774 bI#)15.53
544k B mBEe (REF > X)15.54
( -1.2 m)

1275 8 e (ERVa=7)15.49
715 m 246 (LEV2=7)15.62
18675 ¢ HI &6 (L5 Z(XL)16.46
JIKTF ¥xFE6 (N E—=)16.60
38 A Fn6 (NN E—=)16.96
17074 B 6 (LoZiEe)17.03
884 N w5 AL 6 (/NIETRE )17, 37

1MFES KP4 (LHZI1XE)2:08.50
1077,??;‘%; wHE 4 E@INWRC)2:11.39
ME M #F4(L5Z013XE)2:11.43
28k &2 Ef4 (N E—=)2:11.90

167/h 4k T4 (L6 21X E)2:13.57

358 R B it 4 (N E—=)2:15.46

7016]
8[ 2]
9[ 4]
10[11]
11[21]

86 K E ¥ 44 (G5l A C)2:06.83
298 FH4 (v —=)2:07.09
158 ¥ J54(VOLVER)2:07.53
128 1 2 £ 4 ()IIWR C)2:07. 67

21485 K A4 (H # R C)2:07.78

18[ 8]
19[14]
20[ 9]
21[22]

[20]

194F8 4 H2v0 4 (FHRAEFRK)2:17.14
TH# R B fE 4 (W)IIWR C)2:22. 60
134 /HNE4(LHZIXE)2:24.16
21577 B i 4 (| K R C)2:31.76
12948 & #8 HL 4 Gy JE B ) Ri5
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[148]

10 2] 22888 1 #j /55 (RUN. j p)1:48.13 10[ 6]
20 7] 66f=AM EW5 (EEY=2=7)1:50.57 11[11]
30 3] 3mzA ®EHES Ffnr 77)1:51.84 12[13]
47 1] 222/ K #5 (RUN. jp)1:52.67 13[14]
5[18] 15908 5 H &S5 (L ZiEE)1:54.82  14[ 8]
6[15] 1174k E {iiw (YYKSC)1:56.51  15[10]
70 9] 196/ £ ’/}-:5 (FTIR E%##%)1:56.55  16[12]
8[ 4] 32/ | x5 (N b—=)1:56.93 17[16]
9[ 5] 90 mH %31:245<KJM.RC)1:57.11 18[17]
[248]

1[16] 1058 A& 5 (EMNY2=7)1:56.39 9[ 3]
2[(14] 57TH %5 (epke #=)1:57.95 10[13]
3[ 6] 2105 4R ZE P 5 GhkFkER J r)1:59.76  11[ 1]
40 71 1R B AES GBEENNEAN2:00.31  12[12]
5[ 2] 91{FtjE FLgks5 (KJM.RC)2:04.78 13[ 9]
6 4] 15808 % 4H HES5 (L HZ1XL)2:06.80 14[ 5]
T11] 443 H 3 A 5 (P -Z%EF)2:07. 67 [10]
8L 8] 41+ #ALES (M- 3ETF)2:08. 51 [15]
0 N

[] SRy . |

1 2288 H #jJ55 (RUN. j p)1:48.13
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A[11] 1428 ) B 26 (774 MI#E1:50.15  13[ 1]
5[12] 60&= H % 56 (FEV=2=7)1:51.16 14[ 8]
60 71 1725k B E 6 (LHZEL)1:52.86  15[15]
70 3] 13742 5 6 (AEAHE)1:53. 41 [ 6]
8[16] 1462 £ 1% H 6 (77 A M) 1:53. 67 [ 9]
9[13] 15021l #EJ® 6 (77 A NI#)1:55. 87

[24H]

1[16] 10848 7Z2>1 6 (HEMY=2=7)1:47.06 10[ 2]
2[10] 234 i fEH 6 GRAxlfE 1)1:50.02  11[17]
3[ 6] 209F8 H e (AZ£mHjr)1:50.70  12[ 9]
40 4] 52N 1 FEBE6 (KE¥x > X)1:51.47  13[ 8]
5011] 24%% % #hpe GRfAILFEE)1:54.44  14[ 5]
6[14] 2585 K 2 pd6 CGRAALMEEE)1:55.69 15[ 7]
7011 69 F6 (ERYV2=7)1:57.65 16[12]
8 3] 1129 W HFnfte6 (FEMY==7)1:58.86 17[18]
9[13] 179 B F F6 (LHZ1EL)2:01.15  18[15]

IBRHE BT5 (RN E—2)1
18238 >k WAL 5 (L5 ZiEE)
1033 H AR5 (EMNY2=7)2
80H #& HI &5
1407% 30 5 #0565 (AEAGHREE) 2
106587 H ¥ Ab ENMY2=7)2

1184k
1395

i 85 (YYKSC)2:
B &5 (KEWEAR)2:

937 B
56 7%
49)11 4
451 30 #E 35 (Y
424 1L ED%?’KEB (B
18141 K #EAES (LG ci‘k)zz
34 I BHS5 T ZEFIRS
1022 i E%S(ﬁﬂu%:?)k%

5 (KJM.RC)2
At A< b (REmbE L#E)2

ZETF)2

192% F

5K A
15270 H
927& H
94 Bk

1538 A Hil 3£ 6 (7 74 1) Ri5
4% K 6 GIinsy 7 7)Ri5

364k R
134 =%
1138
178 K W
34
119585 J5
120 % J5U
2407k
87K %

:58.
:59.
:00.
(ERY=2=7)2:01.
:02.
:03.
211 b5 ZFIER 5 GRoFRER ] r)2:11.
13.
15.

:09.
:10.
%1‘%5 (j(.%f’\'/x)ZZH.
14,
ZEF)2:21.
22.

IF K6 (FTiRAEF)1:57.
B %6 Corfny 7 7)1:57.
E 6 (774 MI#)1:57.
W6 (KJM.RC)1:57.
£ %6 (KJM.RC)2:00.
8481 BHALJY 6 (LEY2=7)2:00.

B flie (N e—=)2:01.
fE#¥6 (KRC J r)2:01.
B2z 6 (MY 2=7)2:03.
&6 (L ZiXe)2:04.
B 756 (N v—=)2:05.
B E6(YYKSC)2:08.
6 (YYKSC)2:08.
AL 6 (TAVT 47 2)2:09.
X £ 6 (N)IETREE)2:19.
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39 Nt FH
151 i
208 &1 K
2377 i
1423 Y

108 478 72>F 6 (BN =2 =7)1

ME5% 6 (RUNRUN)T
HHG6 (774 M)
HR6 (HEDHjr)l
56 CGR A L fE B)1
BE6 (774 MIE)T

47.06
:48. 81
:49. 47
:49. 87
:50.02
:50. 15

~N o ok w NN =

209B9 H

[ee]

BE6 (DS j 1)l
605 H = 56 (EREY2=7)1

:50.70
:51.16

INEEF 4x100mR RS (448)

[1#8]
1[1]JRUN. jp A
2[4]LbZiFe A
(8] R EAT. C
AT RV 2=7
5 [3]ATIREFK
6[2]EMy =7
15613 E—= A
8[6]HJIWRC A

[24H]

1218 EE e (
2[717 74 NIk (
3l6]Lbzite B(
4[3]7717%/?%
5[4]JK R C T
6[8]9?()3%%& B(
[6]JRUN. jp D(

[3#H]
1[3]JRUN. jp B
2071MAY 2 =7

A~~~ o~~~ o/~ —

(
(
S[6IFTIRESR C( 201 J  ZE5- 2008% &% 25285
4[8]L b ZiEe: C( 164 6 1614 %= K5
5[4]LbZixe D( 18675 ik H1436- 178K UG 4T % 6:
6[5]EMYy==7 B( M3EE L 226 114N 1 A2 ¥5:
T[2]Lbzide E(C1TIRZH #&4 158IG5F 16 35
[4%#8]
TIAJR R i fe (0 23A R fE&E6- 245 Hhibe6
2[3]RUN. jp C( 229 O\ 6- 2267 K 5
S[BIRE v X( b4tk B me6- LM 15 H6:
IRk I E 5 294t BiH 4

5[6]LbZiEE: F
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(
(
4(6] N> b —= B(
(
6[2JRUN. jp E(

(

1M7L 2iEE G113 /34
1 RUN.jp A 51.50
2 LbZiIFEE A 54. 92
3 RUN.jp B 54.56
4 3 FEbE O 55. 10
5AREHMT. C 5587
6 LY 2 =7 56. 27
177 7 A I 56. 57
8 3 kAl B L 57.18

2451 1L 56
516

179,
19)11 &

‘J—‘El

14Kk%=E OFED 5
1t 456
fnite:
756
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120 |
34H

T3k It
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2257 1

233% = FE 6
207%F H O£ EES

1621 # [if] 53
21840 2 i &
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1550 |- w6
95§j|§ %ljr‘—" 4
13585 K %%/zB-
192 T A6
x5

2357 71
1543
18111 IFf
81 % H %
195/~ 52
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96(J %
134= 43

231 B IR

20415 H FHEER 6

4- 171HB 5 KP4
4- 220FnH3E 34
185 & B Fn4:

= fH6
B 36
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%6
1 )56
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9= R FEE4
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ETINGE
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166/ Ak 0> 76 1563 [ & A/5)54. 22
20 RS AR fETE6- 16ET WE %2 H6)55. 87
6415 18 FE6- TIREHE #]426)56. 27
187521 £ 26 197F ik 8 K6)57.96
15N BifE6- 10988 1~ 4 4)58. 01
38EH AR Fnua6 364K IR E%ﬁem 03.12
1025 8 W B4 11HEE B3%4)1:06.66
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1768 £ #h{t6

99rh B [55 325
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22146 B TR W4

188]it] 15

6- 2324k  HE HR6-
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5
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5
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6
Bi &5

6
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)

)
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1017] 23947 i Fn 226 (B4 » f/]N) 4mb0 +1.0

2[(14] 81 EF E ¥6 (LRYVa2=7) 4m4l +1.3

3[16] 22k & FE6 CGEAALEEE) 4m23 +0.8

4013] 19)Il 1 = % 6 (AJE#T. C) 4m07 +1.3

5[18] 126 | B 45 2k 6 Cor JE& [ H%) 3m91 +0.5

6[15] 2324k  #i #R6 (RUN. j p) 3m88 +1.5

7011] 168f2 R wh#F6 (LS 21X L) 3m83 -0.9

8[ 1] 138Jm\[H] EpMES: 5 (A= AGHKAR) 3m64 -0.2

9[10] S51H A ZEME6 (KEXxvX) 3mb2 0.0

10012] 199/ v H A% 6 (AR AESHR) 3mbl +1.1

110 9] 127)11 gy #E 2£ 5 Cor K & ) 3m51 -0.7

120 6] 1631 A *EEZM (LbZixE) 3m28 -0.3

130 8] 16041 ZE w5 (LS Zi1XE) 3m22 -0.1

141 2] 404 1 f“} 26 (Mo Z%EF) 3mls -1.2

150 4] 145 B B4 WIWRC) 3m09 -1.6

16[ 7] 189%K i k46 5 (FTiRAESK) 3m04 0.0

170 5] 1165 1§ 7'“‘“4 (BN ==7) 2m84 -0.4

18[ 3] 1THEE B34 WIIWRC) 2m68 -1.3

mZE1EEF 100m RE GHE)

[148]) ( +0.2 m) [248] ( -1.2 m)
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